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QUESTION 1

Your client\\'s legacy system uses a hierarchical parent/child relationship to organize customer information because a
single customer may have more than one bank account or payment method. Does this prevent you from using the
Oracle Fusion Trading Community Model Data Import program? 

A. The program allows the use of parent, child, and grandchild table hierarchies, but it requires multiple Customer
Master records for each customer within the hierarchy. 

B. The program allows table hierarchies for customer bank accounts, but not for other customer information. 

C. No; the program contains parent, child, and grandchild table hierarchies to represent the hierarchy of data in the
customer information. 

D. Yes; the program specifically prohibits parent, child, and grandchild table hierarchies to represent the hierarchy of
data in the customer information. 

E. The use of parent, child, and grandchild table hierarchies is allowed only in Accounts Payable, not Accounts
Receivable. 

Correct Answer: D 

 

QUESTION 2

Your customer upload batch completes with an error and you identify the error as being due to incorrect 

payment method. 

Which action should you take the resolve the Issue? 

A. Use the Customer Data Exceptions spreadsheet. 

B. Use the Customer Payment Method Exceptions spreadsheet. 

C. Troubleshoot In the Manage Customers page. 

D. Correct error and resubmit the batch. 

Correct Answer: B 

 

QUESTION 3

A client has implemented a revenue policy with time-based contingencies. An invoice for a creditworthy 

customer is imported and one of the invoice lines is associated with both a nonstandard refund policy (60 

days) and an acceptance clause (100 days). 

When will revenue be recognized? 

A. only after manual intervention 

Latest 1Z0-1056-21 Dumps | 1Z0-1056-21 Practice Test | 1Z0-1056-21 Braindumps                                2 / 4

https://www.geekcert.com/1z0-1056-21.html
https://www.geekcert.com/1z0-1056-21.html
https://www.geekcert.com/1z0-1056-21.html


https://www.geekcert.com/1z0-1056-21.html
2024 Latest geekcert 1Z0-1056-21 PDF and VCE dumps Download

B. after 100 days 

C. immediately 

D. after 60 days 

Correct Answer: B 

 

QUESTION 4

You have created payment terms in a system and associated them in the USA reference data set. All the payment
terms in the system are shown as follows. Business Unit X has a set assignment of Enterprise Set for payment terms.
Payment Term = Net 30; Reference Data Set = Enterprise Set Payment Term = Net 45; Reference Data Set =
Enterprise Set Payment Term = 1%/10 Net 30; Reference Data Set = USA Set Payment Term = Net 45; Reference
Data Set = USA Set If an invoice is created in Business Unit X, which payment term set is available for use in a
transaction? 

A. Net 45 (Enterprise Set), Net 45 (USA Set) 

B. Net 30 (Enterprise Set), Net 45 (Enterprise Set) 

C. Net 30 (Enterprise Set), Net 45 (USA Set) 

D. 1%/10 Net 30 (USA Set), Net 45 (USA Set) 

Correct Answer: B 

 

QUESTION 5

A Billing Specialist has created and completed an invoice for $100 USD for Customer A. The Specialist 

prints the invoice and realizes that the invoice should have been created for Customer B. The accounting 

for the transaction for Customer A is posted to the General Ledger. 

How can this be corrected? 

A. Create an adjustment for the entire amount and create a negative adjustment for Customer B. 

B. Create an on-account credit memo for $100 USD for the invoice and enter a new invoice for Customer 

B. 

C. Change the status of the invoice to Incomplete and enter a new invoice for Customer B. 

D. Navigate to the credit transaction link in the Billing work area, credit the entire amount, and enter a new invoice for
Customer B. 

Correct Answer: A 
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